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     SESSION JULY – DECEMBER 2021  
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               (Objective Questions) 

            ( ) 

Attempt each question:      50x2=100 

(1) A reduction in oxygen-carrying capacity of blood is known as - 
(a)  Diabetes    (b) Anemia   
(c) Hypertension   (d) None 

(a)     (b)   
(c)    (d)  
 

(2) A large number of neurons are produced and die during the 
development of - 
(a)  CNS     (b) ANS   
(c) PNS     (d) None  

  
(a) CNS     (b) ANS   
(c) PNS    (d) 

(3)  Polypeptides are a type of - 
(a)  Carbohydrate   (b) Protein    
(c) Lipid     (d) None 
Polypeptides   
(a)      (b)     
(c)     (d)  
 
 
 
 
 
 
 



(4)  System which gets alert and active to restore homeostasis is - 
(a)  Excretory system  (b) Immune system   
(c) Both     (d) None 

  
(a)     (b)   
(c)    (d)  

(5) Which cell organelle contains digestive enzymes for enemy and 
autolysis - 
(a)  Centrosome   (b) Ribosome    
(c) Lysosome    (d) None 

 
(a) Centrosome   (b) Ribosome  
(c) Lysosome   (d)  

(6) Each nucleus contains a - 
(a) Peroxisome   (b) Nucleolus   
(c) Centrosome   (d) None 

  
(a) Peroxisome   (b) Nucleolus  
(c) Centrosome (d) 
 

(7) Negatively-charged ions are called - 
(a)  Cations    (b) Anions  
(c) Both     (d) None  

   
(a)    (b)   
(c)   (d)   

(8) In DNA, D stands for - 
(a)  Deficiency    (b) Degeneration    
(c) Diabetes    (d) None  
DNA D  
(a) Deficiency    (b) Degeneration     
(c) Diabetes    (d)  
 

(9) The surface of body is covered by - 
(a)  Connective tissue  (b) Epithelial tissue  
(c) Muscular tissue   (d) None  

 
(a)      (b)  
(c)     (d) 



(10) The Matrix protects and binds together the elements of - 
(a)  Connective tissue  (b) Epithelial tissue   
(c) Muscular tissue   (d) None  

 
(a)    (b)   
(c)  (d) 
 

(11) Lymph is a type of - 
(a)  Cell     (b) Connective tissue    
(c) Epithelial tissue   (d) None  

 
(a)     (b)     
(c)    (d) 
 

(12) Function of Thrombocyte is - 
(a)  Vasodilation   (b) Vasoconstriction  
(c) Both     (d) None  
Thrombocyte  
(a)  Vasodilation   (b) Vasoconstriction   
(c)    (d) 
 

(13) In TLC, T stands for - 
(a)  Total     (b) Try     
(c) Trans    (d) None  
TLC T  
(a) Total     (b) Try     
(c) Trans    (d)  
 

(14) Body mechanism to prevent blood loss is - 
(a) Leucocytosis   (b) Hemostasis    
(c) Chemotaxis    (d) None  

 
(a)  Leucocytosis   (b) Hemostasis
(c) Chemotaxis   (d) 

(15) Erythropoiesis takes place in - 
(a) Adipose tissue   (b) Myeloid tissue   
(c) Lymphoid tissue    (d) None  
Erythropoiesis  
(a)     (b)    
(c)    (d)  
 
 
 
 



(16) Normal creatinine level in blood is approximately - 
(a) 0.8 mg%    (b) 1.2 mg%   
(c) 1.4 mg%     (d) None  

 
(a) 0.8 mg%    (b) 1.2 mg%   
(c) 1.4 mg%     (d)  

 
(17) How many types of B-Lymphocytes are there - 

(a)  Two     (b) Three    
(c) Four     (d) None  
B-Lymphocytes  
(a)   (b)    
(c)   (d)  

(18) Which is a function of Reticuloendothelial system - 
(a)  Formation of antibodies (b) Formation of bile pigment  
(c) Both     (d) None  
Reticuloendothelial  
(a)   (b)   
(c) (d) 
 

(19) The universal recipient blood group is – 
(a) A     (b) AB  
(c) O      (d) None 

 
(a) A     (b) AB
(c) O      (d) 
 

(20) Blood is a part of - 
(a) CSF      (b) ECF   
(c) ICF     (d) None 

(a) CSF      (b) ECF   
(c) ICF     (d)   
 

(21) The sheath of lymphatic tissues is – 
(a) Red pulp     (b) White pulp  
(c) Both      (d) None 

 (Sheath)  
(a)      (b)  
(c)      (d) 
 
 
 
 



(22)   A common media for spreading the cancer cells all over the body is - 
(a) Bones     (b) Lymph  
(c) Skin      (d) None  

 
(a)     (b)   
(c)      (d) 

(23) Specialised muscles of heart are called - 
(a) Myocardium    (b) Endocardium   
(c) Pericardium   (d) None  

 
(a)      (b)   
(c)    (d)   
 

(24) Cisterna chyli is a part of - 
(a) Digestive system  (b) Circulatory system    
(c) Lymphatic system  (d) None 
Cisterna chyli  
(a)     (b)     
(c)     (d) 
 

(25) The biggest blood vessels are called - 
(a) Veins    (b) Vena cava  
(c) Venules    (d) None  

 
(a)  Veins    (b) Vena cava 
(c) Venules  (d)  
  

(26) Valve between right atrium and right ventricle is - 
(a) Aortic valve   (b) Tricuspid valve  
(c) Mitral valve   (d) None  

 
(a) Aortic valve   (b) Tricuspid valve  
(c) Mitral valve   (d) 

(27) Good Cholesterol is - 
(a) HDL      (b) LDL  
(c) VLDL    (d) None  

 
(a) HDL      (b) LDL 
(c) VLDL    (d) 
 
 
 
 



(28) Rate of Erythrocyte destruction is high in - 
(a) Hepatic jaundice   (b) Prehepatic jaundice   
(c) Both     (d) None  
Erythrocyte  
(a) Hepatic jaundice   (b) Prehepatic jaundice 
(c)   (d) 

(29) Pneumonia is an infection of - 
(a) Nose     (b) Bronchus  
(c) Alveoli    (d) None  

 
(a) Nose    (b) Bronchus  
(c) Alveoli    (d)  

 
(30) Bradycardia means - 

(a) Normal pulse   (b) Fast pulse  
(c) Slow pulse    (d) None  

 
(a)    (b)   
(c)    (d) 
 

(31) Diffusion of gases takes place in - 
(a) Bronchi    (b) Alveoli    
(c) Villi     (d) None  

Diffusion  
(a) Bronchi    (b) Alveoli    
(c) Villi     (d)  
 

(32) The area between the two lungs is called - 
(a) Oropharynx   (b) Mediastinum  
(c) Thorax    (d) None  

 
(a) Oropharynx   (b) Mediastinum  
(c) Thorax (d) 

(33) Each nephron consists of - 
(a) Glomerulus   (b) Loop of Henle    
(c) Both     (d) None  

nephron
(a)  Glomerulus   (b) Loop of Henle   
(c)     (d) 



(34) The oxygen carrier in RBC is - 
(a) Albumin    (b) Hemoglobin    
(c) Fibrin    (d) None 

 
(a)  Albumin    (b) Hemoglobin    
(c) Fibrin    (d) 

(35) High level of uric acid may indicate - 
(a) Renal cholic   (b) Gout    
(c) UTI     (d) None  

 
(a) Renal cholic   (b) Gout  
(c) UTI (d)  

(36) The rate at which the blood is filtered is called - 
(a) ESR     (b) PSA   
(c) GFR     (d) None  

 (Rate)  
(a) ESR     (b) PSA   
(c) GFR     (d)  

(37) A cause of sore-throat is - 
(a) Tonsilitis     (b) Pharyngitis   
(c) Both     (d) None 

 
(a) Tonsilitis     (b) Pharyngitis   
(c)    (d)  

(38) Hormone erythropoietin stimulates the production of - 
(a)  RBCs    (b) WBCs  
(c) Platelets    (d) None  

 
(a)   (b)   
(c)     (d) 
 

(39) Which of the following is NOT a part of digestive system– 
(a) Oesophagus   (b) Trachea  
(c) Ileum    (d) None  

 
(a) Oesophagus   (b) Trachea  
(c) Ileum   (d) 

 
(40)  If the bilirubin level in blood is high, it may indicate - 

(a) Heart is not functioning properly     
(b) Kidneys are not functioning properly   
(c) Lungs are not functioning properly 
(d) None  



(a)      
(b)     
(c)        
(d)  
 

(41) Which of the following is a part of large intestine– 
(a) Jejunum     (b) Hepatic flexure  
(c) Ileum     (d) None  

 
(a) Jejunum     (b) Hepatic flexure  
(c) Ileum     (d) 
 

(42) The order of passage of food in large intestine is - 
(a) Descending, transverse, ascending colon     
(b) Ascending, transverse, descending colon   
(c) Transverse, ascending, descending colon     
(d) None  

 
(a) Descending, transverse, ascending colon     
(b) Ascending, transverse, descending colon   
(c) Transverse, ascending, descending colon     
(d) 

(43) Pharynx is connected to the - 
(a) Upper Oesophagus  (b) Lower Oesophagus   
(c) Stomach    (d) None  

 
(a)     (b)   
(c)   (d) 

 
(44) Digestion of carbohydrates takes place in presence of enzyme - 

(a) Amylase    (b) Lipase    
(c) Trypsin    (d) None 

 
(a) Amylase    (b) Lipase    
(c) Trypsin    (d) 

(45) Tuberculosis (TB) is caused by - 
(a) Bacteria    (b) Virus  
(c) Fungus    (d) None  

 (TB)  
(a)      (b)   
(c)  (d)  



(46) The process of breaking down and converting the substances ingested 
is called - 
(a) Anabolism    (b) Metabolism  
(c) Both     (d) None  

 
(a)     (b)   
(c)      (d) 

(47) In ECG, E stands for - 
(a) Electric    (b) Electro  
(c) Electrical    (d) None  
ECG  E  
(a) Electric    (b) Electro  
(c) Electrical    (d)  

(48) Pleuritis is a disease of - 
(a) Heart    (b) Lungs    
(c) Spleen    (d) None  

 
(a)     (b)     
(c)     (d)  

(49) Cystitis is an infection of - 
(a) Pelvis    (b) Urinary bladder  
(c) Kidney    (d) None  
Cystitis  
(a)     (b)   
(c) (d)  

(50) Cardia is a part of - 
(a) Heart    (b) Stomach  
(c) Liver     (d) None  

 
(a)      (b)  
(c)    (d)   

   ………..
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ASPEUS CORRESPONDENCE DIPLOMA COURSE-SEM – 5(MADAHS-I) 

       CHINESE ACUPRESSURE (CA-5) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Five Palm Heat is a symptom of - 
(a)  Kid Yin deficiency  (b) Liver Yin deficiency   
(c) Lungs Yin deficiency  (d) None 

Five Palm Heat
(a)  Kid Yin deficiency  (b) Liver Yin deficiency  
(c) Lungs Yin deficiency  (d)  

(2) Hepatitis is related to - 
(a)  Spleen    (b) Liver  
(c) Kidney    (d) None 

  
(a)      (b)   
(c)     (d) 

 
(3)  Being always hungry indicates - 

(a)  Liver heat     (b) Stomach heat 
(c) Kidney heat   (d) None 

  
(a)  Liver heat     (b) Stomach heat  
(c) Kidney heat   (d)  

 
(4)  Bent of right hand’s small finger indicates - 

(a)  Pulmonary valve   (b) Tri-cuspid valve   
(c) Mitral valve   (d) None 

  
(a) Pulmonary valve  (b) Tri-cuspid valve 
(c) Mitral valve   (d) 



(5) Organ Source point of Liver is - 
(a)  Liv – 2    (b) Liv – 3 
(c) Liv – 5    (d) None 

Organ Source point   
(a)  Liv – 2     (b) Liv – 3   
(c) Liv – 5 (d) 
 

(6) Humidity point of Stomach is- 
(a)  St - 45     (b) St - 43   
(c) St – 36    (d) None 

 
(a)  St - 45     (b) St - 43
(c) St - 36    (d) 

(7) Excess urination indicates - 
(a)  Yin deficiency   (b) Yang deficiency  
(c) Both     (d) None 

  
(a)  Yin deficiency   (b) Yang deficiency  
(c)     (d) 
 

(8) Tip of tongue red is due to - 
(a) Lungs    (b) Heart    
(c) Liver     (d) None

  
(a)      (b)    

(c)    (d) 
 

(9) C.M.P. of Heart meridian is - 
(a)  H – 8b    (b) H – 8c   
(c) H – 8a    (d) None 
Heart meridian C.M.P.   
(a)  H – 8b    (b) H – 8c    
(c) H – 8a    (d)  

 
 
 
 



(10) Oxygen point is - 
(a)  Lu - 4     (b) Lu - 3  
(c) Lu – 5     (d) None 

  
(a) Lu - 4     (b) Lu - 3  
(c) Lu – 5    (d) 

 
(11) Wind point of Lungs is - 

(a)  Lu - 9    (b) Lu - 11 
(c) Lu - 7    (d) None 

Wind point  
(a)  Lu - 9    (b) Lu - 11  
(c) Lu - 7    (d)  

 
(12) Nephritis related organ is - 

(a)  Lungs    (b) Liver  
(c) Kidney    (d) None  
Nephritis  
(a)    (b)  
(c)   (d)  

 
(13) Lt side of tongue is related to - 

(a)  Gall Bladder   (b) Spleen   
(c) Liver     (d) None  

 
(a)     (b)    
(c) (d) 
 

(14) If one breaths through the mouth , it indicates - 
(a)  Heart Qi deficiency  (b) Spleen Qi deficiency  
(c) Lungs Qi deficiency  (d) None  

(a) Heart Qi deficiency  (b) Spleen Qi deficiency 
(c) Lungs Qi deficiency  (d) 

(15) Cause of Hernia is - 
(a)  Lungs Qi deficiency  (b) Spleen Qi deficiency  
(c) Spleen Yang deficiency (d) None  

 
(a) Lungs Qi deficiency  (b) Spleen Qi deficiency
(c) Spleen Yang deficiency (d) 



(16) Pace maker related EAV point is - 
(a)  H – 6 (Rt)    (b) H – 6a (Lt) 
(c) H – 6a (Rt)    (d) None  

EAV  
(a)  H – 6 (Rt)    (b) H – 6a (Lt)  
(c) H – 6a (Rt)    (d) 
 

(17) Loud belching indicates - 
(a)  Deficient condition  (b) Excess condition   
(c) Normal condition   (d) None  

 
(a)     (b)  
(c) (d) 
 

(18) Mind related organ is - 
(a) Lungs    (b) Liver   
(c) Heart    (d) None  

 
(a)      (b)     
(c)      (d) 

(19) Pebbles like stool is related to - 
(a)  Spleen    (b) Kidney  
(c) Liver     (d) None  

 
(a)       (b)      
(c)    (d) 

(20) Jaundice related organ is - 
(a) Kidney    (b) Lungs   
(c) Liver     (d) None  

 
(a)       (b)     
(c)      (d) 

(21)  Epigastric pain in afternoon is due to - 
(a)  Stasis of blood   (b) Stagnation of Qi   
(c) Deficiency    (d) None  

(a) Stasis of blood   (b) Stagnation of Qi 
(c) Deficiency (d) 
 



(22) Vomiting with low sound indicates - 
(a) Heat     (b) Deficiency   
(c) Excess    (d) None  

 
(a)  (b) 
(c)  (d) 
 

(23) Feel smell in vomiting indicates - 
(a)  Heat in stomach   (b) Cold in stomach  
(c) Cold in Si    (d) None  

 
(a) Heat in stomach   (b) Cold in stomach
(c) Cold in Si  (d) 
 

(24) Dreams of fire relates to - 
(a)  Heart    (b) Lungs   
(c) Spleen    (d) None  

 
(a)    (b)    
(c)    (d) 
 

(25) Liver opens into - 
(a)  Nose    (b) Eyes  
(c) Ears     (d) None  

 
(a)      (b)   
(c)     (d) 
 

(26) Exhalation is related to - 
(a)  Liver     (b) Kidney  
(c) Lungs    (d) None  

 
(a)    (b) 
(c)  (d) 

(27) Congenital disease will be treated by - 
(a) Kidney Qi deficiency  (b) Kidney Essence  
(c) Kidney Yin deficiency  (d) None  

 
(a) Qi   (b)  (Kidney Essence)



(c) Yin (d) 

(28) Posterior knee joint will be treated by - 
(a)  UB - 54    (b) UB - 60  
(c) UB - 51    (d) None  

 
(a) UB - 54    (b) UB - 60   
(c)  UB - 51   (d) 
 
 

(29) Forehead sweating during taking meal indicates  - 
(a) Stomach    (b) Heart    
(c) Liver     (d) None  

 
(a)      (b)   
(c)   (d) 
 

(30) Left side headache relates to - 
(a)  Kidney       (b) Liver     
(c) Heart     (d) None  

(a)     (b)        
(c)   (d) 
 

(31) Coarse and loud respiration is - 
(a) Deficient type   (b) Cold type    
(c) Excess type   (d) None  

 
(a)     (b)      
(c)   (d) 
 

(32) Weak voice is due to – 
(a) Lungs    (b) Liver  
(c) Stomach    (d) None.  

 
(a)    (b)  

(c)     (d) 



(33) Excessive consumption of cold and raw food causes - 
(a) Spleen Yin deficiency  (b) Lungs Qi deficiency   
(c) Spleen Qi deficiency  (d) None  

 
(a)  Spleen Yin deficiency  (b) Lungs Qi deficiency   
(c)  Spleen Qi deficiency (d) 
 

(34) Bitter vomiting is due to - 
(a) Large Intestine   (b) Liver    
(c) Spleen    (d) None  

 
(a)  (b)     
(c)    (d) 
 

(35) High Cholesterol will be treated by - 
(a) Pn - 2    (b) Pn - 3    
(c) Pn - 4    (d) None  

 
(a) Pn - 2    (b) Pn - 3    
(c) Pn - 4 (d) 

(36) M.P. for Lungs Parenchyma is - 
(a) Lu - 9    (b) Lu - 10    
(c) Lu - 11    (d) None  

M.P.  
(a) Lu - 9    (b) Lu - 10   
(c) Lu – 11   (d) 
 

(37) Person to talk a lot relates to - 
(a) Spleen    (b) Heart   
(c) Lungs    (d) None  

 
(a)       (b)  
(c)     (d)  

 
 
 
 



 
 

(38) Abdominal distention with no pain is - 
(a) Excess type   (b) Hot type   
(c) Deficiency type   (d) None  

 
(a)   (b)     
(c)    (d) 

(39) Abdominal pain which is relieved by bowel movement is - 
(a) Excess type   (b) Cold type   
(c) Deficient type   (d) None  

 
(a)   (b)    
(c)   (d) 

(40) Wind point of UB is - 
(a) UB – 60    (b) UB – 66  
(c) UB – 65    (d) None  
UB Wind point  
(a) UB – 60    (b) UB – 66    
(c) UB – 65    (d)  
  

(41) Pneumonia is related to - 
(a) Alveoli    (b) Pleura  
(c) Bronchi    (d) None  
Pneumonia  
(a) Alveoli    (b) Pleura    
(c) Bronchi    (d) 

(42) Cause of Purpura is – 
(a) Liver blood deficiency  (b) Liver blood stasis 
(c) Spleen not controlling blood (d) None.  
Purpura  
(a) Liver blood deficiency  (b) Liver blood stasis  
(c) Spleen not controlling blood (d) 
 
 
 



 
(43) Coronary arteries supply blood to - 

(a) Brain     (b) Heart  
(c) Liver     (d) None  
Coronary arteries  
(a)      (b)   
(c)   (d) 

(44) Cause of Ulcerative colitis is - 
(a) Damp heat in Li   (b) Damp heat in Lu  
(c) Damp heat in Si   (d) None  
Ulcerative colitis  
(a) Damp heat in Li   (b) Damp heat in Lu  
(c)  Damp heat in Si  (d)  

 
(45) Summer season related element is - 

(a) Earth    (b) Metal   
(c) Fire     (d) None 

 
(a)      (b)    
(c)    (d) 

(46) Liver is never - 
(a) Excess    (b) Deficient  
(c) Both     (d) None  

 
(a)  (Excess)   (b) (Deficient)  
(c)   (d) 
 

(47) Back  Shu point of Li Meridian is - 
(a) UB - 20    (b) UB - 23    
(c) UB - 25    (d) None  
Li Meridian Back  Shu point  
(a) UB - 20    (b) UB - 23   
(c) UB - 25   (d) 

(48) Nephron is related to - 
(a) Heart    (b) Kidney    
(c) Liver     (d) None  
Nephron  
(a)      (b)   



(c)   (d) 
 

(49) Purple colour of lips indicates - 
(a) Blood deficiency   (b) Blood stasis  
(c) Normal condition   (d) None  

 
(a) Blood deficiency   (b) Blood stasis   
(c) Normal condition (d) 

(50) Controller of sweating is - 
(a) Liver     (b) Lungs  
(c) Kidney    (d) None  

 
(a)     (b)   

(c)      (d)  
 

   ………..
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      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Total number of vertebrae in Thoracic spine is - 
(a)  10     (b) 5    
(c) 12     (d) None 

Thoracic spine
(a)  10     (b) 5    
(c) 12   (d) 
 

(2) Rt RF 3rd Spr treatment is for - 
(a)  Belching    (b) Knee pain    
(c) Back pain    (d) None 
Rt RF 3rd Spr   
(a)       (b)  
(c)    (d)  

(3)  Tonification colour of Akash chakra is - 
(a)  Green     (b) Light blue     
(c) Violet    (d) None  

  
(a)       (b)      
(c)   (d) 

 
 
 



(4)  Treatment of any blockages in the body is - 
(a)  034↑569↓    (b) 036↑459↓    
(c) 034↓569↑    (d) None  

  
(a) 034↑569↓    (b) 036↑459↓   
(c) 034↓569↑    (d) 

(5) Primary curvature of the spine is - 
(a)  Cervical    (b) Lumbar    
(c) Thoracic    (d) None 

curvature   

(a)      (b)    

(c) (d) 
 

(6) Chakras will be treated on - 
(a) Left hand    (b) Right hand   
(c) Both     (d) None

  

(a)    (b)   

(c)  (d)  

(7) Treatment of cough with blood is - 
(a)  34↓56↑    (b) 34↑56↓  
(c) 36↑56↓    (d) None 

  
(a)  34↓56↑    (b) 34↑56↓  
(c) 36↑56↓    (d) 

 
(8) Lumbar system is plotted on - 

(a) Lt MF K jt    (b) Rt RF K jt    
(c) Rt MF K jt    (d) None
‘Lumbar system   

(a) Lt MF K jt    (b) Rt RF K jt   

(c)  Rt MF K jt (d)  

 



(9) Which is a common attribute - 
(a)  Practice    (b) Soft  
(c) Light     (d) None 

  

(a)      (b)  

(c)     (d)  

 
(10) Treatment of Gums bleeding will be - 

(a)  034↑569↓    (b) 349↓056↑   
(c) 036↑459↓    (d) None 

  
(a) 034↑569↓    (b) 349↓056↑    
(c) 036↑459↓ (d) 

(11) Total number of vertebrae in Lumbar area is - 
(a)  3     (b) 4  
(c) 5     (d) None  
Lumbar  
(a)  3     (b) 4 
(c) 5    (d) 
 

(12) Tonification colour of Agni chakra is - 
(a)  Green    (b) Light blue    
(c) Red     (d) None  

 
(a)  (b)  
(c)  (d) 
 

(13) Treatment of Hepatitis will be on - 
(a)  F.No.3    (b) F.No.4  
(c) F.No.5    (d) None  

 
(a) F.No.3     (b) F.No.4    
(c)  F.No.5 (d) 
 
 



(14) Special attribute of Agni element is - 
(a)  Heavy    (b) Soft   
(c) Hot     (d) None  

(a)      (b)    
(c)   (d) 
 

(15) Treatment of Alcohol addiction will be on - 
(a)  Disha    (b) Akash   
(c) Vayu     (d) None  

 
(a) (b) 
(c) (d) 
 

(16) Treatment of Insomnia is - 
(a)  RMM-7↑8↓    (b) LMM-7↓8↑   
(c) LMM-1↑2↓    (d) None  

 
(a) RMM-7↑8↓   (b) LMM-7↓8↑  
(c)   LMM-1↑2↓  (d) 
 

(17) Treatment of cervical pain is - 
(a)  Rt RF- 8,9 Spr   (b) Lt RF- 0,1 Spr   
(c) Lt RF- 8,9 Spr   (d) None 

 
(a)  Rt RF- 8,9 Spr   (b) Lt RF- 0,1 Spr    
(c) Lt RF- 8,9 Spr (d)  

 
(18) Attribute of Vaat dosh is - 

(a) Stability    (b) Dryness   
(c) Hot      (d) None  

 
(a)     (b)    
(c)   (d) 
 
 
 
 



(19) Treatment of spleenomegaly is - 
(a)  Rt RF - 5/6 LHM   (b) Lt RF - 5/6 LHM     
(c) Lt SF - 5/6 LHM   (d) None  

 
(a)  Rt RF - 5/6 LHM   (b) Lt RF - 5/6 LHM    
(c) Lt SF - 5/6 LHM (d)  
 

(20) Blood tissue is plotted on - 
(a) Rt IF P jt    (b) Lt RF P jt 
(c) Lt IF P jt    (d) None  

 
(a) Rt IF P jt    (b) Lt RF P jt   
(c) Lt IF P jt  (d) 

(21) Pons is plotted on - 
(a)  Rt MF V jt    (b) Lt MF V jt   
(c) Lt IF V jt    (d) None 

 
(a) Rt MF V jt    (b) Lt MF V jt    
(c) Lt IF V jt (d) 
 

(22) Lumbar pain will be treated on - 
(a) Lt RF – 3,4 Spr   (b) Rt RF – 0,1 Spr  
(c) Lt RF – 0,1 Spr   (d) None  

 
(a)  Lt RF – 3,4 Spr   (b) Rt RF – 0,1 Spr  
(c) Lt RF – 0,1 Spr   (d) 
 

(23) Tonification colour of Prithvi chakra is - 
(a)  Green     (b) Yellow   
(c) Indigo    (d) None  

 
(a)       (b) 
(c)   (d) 
 
 
 



(24) Pitta dosh related attribute is - 
(a)  Rough    (b) Mobile   
(c) Sharp    (d) None  

 
(a)      (b)     
(c)     (d)  

 
(25) Treatment of Liver enlargement will be on - 

(a)  Lt IF-5/6 LHM   (b) Rt IF-5/6 LHM   
(c) Lt SF 5/6 LHM   (d) None 

 
(a)  Lt IF-5/6 LHM   (b) Rt IF-5/6 LHM   
(c) Lt SF-5/6 LHM   (d) 
 

(26) Smooth is the special attribute of - 
(a)  Vayu     (b) Akash   
(c) Agni     (d) None  

 
(a)      (b) 
(c) (d) 

(27) How many types of vaat dosh are - 
(a) 5     (b) 4   
(c) 3     (d) None  

 
(a) 5     (b) 4
(c)  3  (d) 

 
(28) Treatment of osteophytes is - 

(a)  014↑239↓    (b) 934↓560↑   
(c) 245↓37↑     (d) None 
Osteophytes  
(a) 014↑239↓    (b) 934↓560↑   
(c) 245↓37↑  (d) 
 
 
 
 



(29) Sedation colour of Chandra Grah is - 
(a) Light blue    (b) Green   
(c) Red     (d) None  

 
(a)      (b)   
(c)  (d)  

(30) Adipose tissue is plotted on - 
(a)  Lt IF P jt    (b) Lt SF P jt   
(c) Rt IF P jt    (d) None  

 
(a) Lt IF P jt    (b) Lt SF P jt  
(c) Rt IF P jt   (d) 
 

(31) ‘LMM *7,8 (Br-opp.flow)’ is the treatment of - 
(a) Low Immune profile  (b) Low back pain    
(c) Knee pain    (d) None  
‘LMM *7,8 (Br-opp.flow)’  
(a)    (b)  
(c) (d) 
 

(32) ‘Cohesion’ is the function of – 
(a) Water    (b) Earth  
(c) Time     (d) None  

 
(a)      (b)  

(c)      (d) 

 
(33) Kaph dosh related attribute is - 

(a) Lubrication    (b) Vibration  
(c) Sharp    (d) None  

 
(a)     (b)    
(c)  (d) 
 
 
 



(34) Treatment of Thoracic spine will be done by - 
(a) RMM- 8,9    (b) RMM- 0,1    
(c) RMM- 4,5,6   (d) None  
Thoracic spine  
(a) RMM- 8,9    (b) RMM- 0,1    
(c)  RMM- 4,5,6  (d) 
 

(35) Sedation colour of Shukra grah is - 
(a) Red     (b) Green  
(c) Yellow    (d) None  

 
(a)   (b)   
(c)     (d) 

(36) Pitta dosh is combination of - 
(a) 1+2     (b) 3+4   
(c) 5+6     (d) None  

 
(a) 1+2     (b) 3+4    
(c) 5+6    (d) 

(37) Treatment of Rt kidney stone will be on - 
(a) Rt IF K jt    (b) Lt IF K jt     
(c) Rt SF K jt    (d) None  

 
(a)  Rt IF K jt    (b) Lt IF K jt    
(c) Rt SF K jt    (d)  

 
(38) Burning is the function of - 

(a) Water    (b) Fire    
(c) Earth     (d) None 

 
(a)     (b)     
(c)   (d)  
 
 
 



(39) Grah will be treated on - 
(a) Rt hand    (b) Lt hand   
(c) Both hand    (d) None  

 
(a)    (b)   
(c)    (d) 

(40) Updhatu of Asthi Dhatu is - 
(a) Head hair    (b) Teeth   
(c) Skin     (d) None  

 
(a)    (b)     
(c)      (d) 
  

(41) Bone marrow tissue will be treated on - 
(a) Lt IF P jt    (b) Rt RF P jt    
(c) Lt RF P jt    (d) None  

 
(a)  Lt IF P jt    (b) Rt RF P jt    
(c)  Lt RF P jt   (d) 
 

(42) Malas of Shukra dhatu is – 
(a) Bile     (b) Sweat   
(c) Nails     (d) None  

 
(a)      (b)    

(c)     (d)  
 

(43) Common protocol of any skin disease is - 
(a) 014↑239↓     (b) 036↑459↓   
(c) 034↓569↑    (d) None  

 
(a) 014↑239↓     (b) 036↑459↓   
(c)  034↓569↑ (d) 
 
 



(44) Sedation colour of Budh grah is - 
(a) Red     (b) Yellow   
(c) Pink     (d) None   

 
(a)     (b)   
(c)      (d) 
 

(45) Cortical brain is plotted on - 
(a) Rt Thumb    (b) Lt Thumb    
(c) Lt IF     (d) None  
Cortical brain  
(a)    (b)    
(c)  (d)

(46) Function related to Vayu is - 
(a) Stability    (b) Radiance   
(c) Vibration     (d) None  

 
(a)     (b)    
(c)    (d)  
 

(47) Malas of Rakt dhatu is - 
(a) Bile     (b) Ear wax   
(c) Sweat    (d) None  

 
(a)       (b)  
(c)     (d) 

(48) Ranjak is a type of - 
(a) Vaat dosh    (b) Kaph dosh   
(c) Pitta dosh    (d) None  

 
(a)     (b)    
(c)     (d)  
 
 
 



(49) Treatment of any infection is - 
(a) 0↑9↓     (b) 0↓9↑   
(c) Both     (d) None  

 
(a) 0↑9↓     (b) 0↓9↑     
(c)        (d)  

(50) Updhatu of Ras dhatu is - 
(a) Muscle    (b) Menstrual blood  
(c) Teeth    (d) None  

 
(a)    (b)   
(c)      (d)     
   ………… 

 

 

 

 


